RH®w

ADSX TL—RI1IN FrTaHE J—R EUB=FDE #EAHFTRT(A)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 2B 2R 4.2 4 g 2 55 5.0 5 hE =HE 7.3 7 BE EZ 10.2 11
2 706 | 703 | WA & — 4.2 4 £33 BE 7.3 7 B & i 7.7 8 HEH TiA 10.0 10
3 712 | 709 | P R & 5.1 5 FEH BE 7.3 7 ARBIFEE 8.6 9 n s b= 11.2 12
4 718 | 715 | A L £ 5.7 5 He =2 6.1 6 NE FF 8.1 8 B ¥— 8.3 8
5 724 | 721 | KA WHE 3.7 3 8 W ES 5.5 5 ERKERZ 6.2 6 FrE 5% 8.8 9
6 730 | 727 | IMNBHK —2Z 21 1 s Bz 4.9 4 # K 13 5.5 5 sl KA 8.8 9
7 736 | 733 | B 1§ +0.5 +2 nm# KX 8.5 9 m B =] 8.6 9 wwHE B3 9.5 10
BOSRX  JTL—RH5ALI) ILITL— d—X FOE= & EB><RT(H)
START 7447 | Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 700 | 657 | K # F 12.3 13 mK —A 13.1 14 & B 16.7 18 e s/ 21.0 23
2 7:06 | 7:03 e & 11.8 13 W B E 12.8 14 L @S 12.9 14 =@ IE= 23.2 26
3 712 | 700 | BAER &IiA 11.6 13 He & 11.8 13 AHE =W 13.5 15 X E7 13.6 15
4 718 | 715 | o 11.7 13 B #& 16.6 18 mE ERX 246 27
5 724 | 721 | EHPBER 12.2 13 B BT 13.1 14 ER L7 15.0 16
¥ TL—=RHALI) ILITL— d—X B E=>EUD A7 LT(7R)
START | >«#7| Player A Index Hdcp Player B Index Hdcp Player C Index Hdcp Player D Index Hdcp
1 7:00 | 6:57 B 2 = 8.4 12 BER & 12.0 16 A W - 13.1 17
2 706 | 703 | MHFENRF 6.4 9 W == 8.0 11 BH L 13.1 17
2 7:06 | 7:03 TXEDE 7.6 11 Hea FK 108 15 hEaAER 11.2 15
%ZAH, HDC PEFHHICEDSAIHDA >FTYIREZFEAULTEDFET,
XRiZEDHEES, HAEBZEEITFIILBITNFET,
RREER TR LBE




